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Aufgabe 1
Berechne. Fiille dabei in Schritten auf wie im Beispiel a).
18 + 6 — 24
a) 54-18=36 Schritte: 24 + 30 = 54 b) 85-38 c) 42-34
36
d) 35-4 e) 30-10 f) 58-18 g) 95-63 h) 36-19 i) 25-12
j) 57-4
Aufgabe 2
Berechne. Fiille dabei in Schritten auf wie im Beispiel a).
38 + 7T = 45
. 45 + 60 = 105
a) 505-38=467 Schritte: 1.5 400 — 505 b) 141-16 c) 693-37
467
d) 666-56 e) 356-21 f) 926-48 g) 744-87 h) 232-85
i) 171-38 j) 824-21
Aufgabe 3
Berechne. Fiille dabei in Schritten auf wie im Beispiel a).
42+ 8 = 50
50 + 50 = 100
a) 6000-42=5958 Schritte: 100 + 900 = 1000 b) 6000-37
1000 + 5000 = 6000
5958
c¢) 7000-12 d) 4000-1 e) 4000-17 f) 2000-84 g) 5000-63
h) 7000-24 i) 4000-68 j) 5000-85
Aufgabe 4
Berechne. Fiille dabei in Schritten auf wie im Beispiel a).
1775 + 40 = 1815
1815 + 800 = 2615
.. 2615 + 5000 — 7615
a) 437615-1775=435840 Schritte: ;- 30000 — 37615
37615 + 400000 = 437615
435840
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b) 737545-2698 ¢) 818375-6893 d) 839957-731 e) 380202-484
f) 362015-6831 g) 814604-5226 h) 675651-4557 i) 361931-4918
j) 278594-2940

Viel Erfolg!
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